
 

  

 

 

DIPLOMA EXAMINATION –   
JANUARY, 2015. 

Health Assistant  

MATERNAL AND CHILD HEALTH 

Time : 3 hours Maximum  marks : 75 

SECTION A — (20  1 = 20 marks) 

Answer ALL questions. 

Multiple choice questions. 

1. As the nurse walks into newborn nursery, she sees 
a baby in respiratory dishes from apparent mucus. 
The first nursing action is to 

 (a) Carefully slap the infant back 

 (b) Thumb the chest and start CPR 

 (c) Pick the baby up by the feet and lower the 
head 

 (d) Call the code team. 
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 ‰a] vnÓ»õÀ AÁv²Ö® £a]Í® SÇ¢øuUS 

ö\Â¼¯º ö\´²® •uÀ £o GßÚ? 

 (A) SÇ¢øu •xøP umkuÀ 

 (B) ö£¸Âμ»õÀ SÇ¢øu°ß Cu¯zøu AÊzv, 

Cu¯ ö\¯ÀvÓøÚ²®, _Áõ\zøu²® 

AvP›zuÀ 

 (C) SÇ¢øuø¯ uø»RÇõP ¤izuÀ 

 (D) ©¸zxÁ Á\v £o¯õÍºPøÍ AøÇzuÀ 

2. Hydatidiform mole is disease of 

 (a) Amnion  (b) Chorion 

 (c) Trophoblast (d) Umbilical cord. 

 •zx¨¤ÒøÍ GßÓõÀ GßÚ ÷|õ´? 

 (A) B®Û¯ß  (B) ÷Põ›¯ß 

 (C) ÷uõÀ²øμ  (D) öuõ¨¦ÒöPõi. 

3. Commonest presenting part is 

 (a) Vertex  (b) Face 

 (c) Brow   (d) Shoulder. 

 ö£õxÁõP P¸¨ø£ Áõ´ •P¨¤À ]_Âß G¢u £Sv 

C¸US®? 

 (A) uø»   (B) •P® 

 (C) ¦¸Á®  (D) ÷uõÀ£møh. 
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4. In-vitro fertiligation is done for 

 (a) Uterine abnormalities 

 (b) Tubal disease 

 (c) Cervical incompetence 

 (d) Chromosomal anomalies. 

 ö\¯ØøP ÷\õuøÚ SÇõ´ ‰»® ¯õ¸US P¸ÄÓ 

ö\´¯»õ®? 

 (A) P¸¨ø£ ÷PõÍõÖ EÒÍÁºPÒ 

 (B) P¸¨ø£ SÇõ´ ÷|õ´ 

 (C) P¸¨ø£ •P¨¦ vÓ¢v¸zuÀ 

 (D) S÷μõ÷©õ÷\õ® ÷PõÍõÖPÒ. 

5. Cord prolapsed is defined as 

 (a) When size of cord is short 

 (b) Cord having multiple infection 

 (c) Cord is lying inside the vagina 

 (d) Cord is placed by the side of presenting part 

but is not felt by the fingers on internal 

examination. 
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 P¸ÂÀ EÒÍ ]_Âß öuõ¨¦ÀöPõi öÁÎ÷¯Ô 

C¸¢uõÀ GßÚöÁßÖ TÖ÷Áõ®? 

 (A) ]Ô¯ öuõ¨¦ÒöPõi 

 (B) öuõ¨¦À öPõi öuõØÖ 

 (C) ÷¯õÛÝÒ öuõ¨¦ÒöPõi C¸zuÀ 

 (D) ]_Âß J¸ £Sv°À öuõ¨¦ÒöPõi 

Aø©¢v¸US®, BÚõÀ ÂμÀ £›÷\õuøÚ 

‰»® PshÔ¯ •i¯õx. 

6. Infection of the fallopian tube is called 

 (a) Appendicitis (b) Bartholinitis 
 (c) Salpingitis  (d) Endometritis. 

 P¸¨ø£ SÇõ°À öuõØÖ GßÓõÀ GßÚ? 

 (A) ShÀ AÇØ] 

 (B) £õºz÷uõ¼ÛøÚiì 

 (C) P¸¨ø£ SÇõ´ ÃUP® 

 (D) P¸¨ø£ Em_Áº öuõØÖ. 

7. Painful menstruation is termed as 

 (a) Menorrhea  (b) Dysmenorrhea 
 (c) Amenorrhea (d) Menopause. 

 ©õuÂhõ´ ÷£õx Á¼ AvP©õP C¸¢uõÀ 

GßÚöÁßÖ TÖ÷Áõ®? 

 (A) ö©öÚ›¯õ  (B) iìö©÷Ú›¯õ 

 (C) Aö©ß÷Ú›¯õ (D) ö©÷Úõ£õì. 
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8. Drug used in severe hypertension in pre  
eclampsia is 

 (a) Labetalol   

 (b) Metoprolol 

 (c) Alphamethyldopa  

 (d) Nifidipine. 

 ÷£ÖPõ»zvß ÷£õx Á¼¨¦ HØ£mhõÀ 

öPõkUP¨£k® Cμzu öPõv¨¦ ©õzvøμ Gx? 

 (A) ö»¤mh»õÀ (B) ÷©m÷hõ¦μ»õÀ 

 (C) BÀ£ªøuÀ÷h£õ (D) {¨¤÷h¤ß. 

9. Which of the following vaccines in contra indicated 
in pregnancy? 

 (a) MMR  (b) Rabies 

 (c) Hepatitis B (d) Antibiotics. 

 RÌUPshÁØÔÀ G¢u uk¨§] Pº¤oPÐUS 

öPõkUPUThõx? 

 (A) MMR  

 (B) μõ¤ì 

 (C) PÀ½μÀ AÇØ] uk¨§] 

 (D) Bßi£¯õiUì. 
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10. Very low birth weight means birth weight less 
than 

 (a) 500 gm  (b) 1000 gm 

 (c) 1500 gm  (d) 2000 gm. 

 ¤Ó¢u SÇ¢øu°ß Gøh ªPÄ® SøÓÁõP C¸¢uõÀ 

GÆÁÍÄ SøÓÁõP C¸US®? 

 (A) 500 Q  (B) 1000 Q 

 (C) 1500 Q  (D) 2000 Q. 

11. ABO incompatibility usually occurs when mother’s 
blood group is 

 (a) A   (b) B 

 (c) AB   (d) O. 

 ABO Cμzu¨¤›Ä G¢u uõ°ß Cμzu ¤›÷Áõk 

ö£õ¸¢uõx? 

 (A) ‘A’   (B) ‘B’ 

 (C) ‘AB’   (D) ‘O’ 

12. Caesarean delivery is indicated in 

 (a) Hypertensive disorder 

 (b) Hyperemesis gravidarum 

 (c) Morning sickness 

 (d) Severe leg cramps. 
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 ]÷\›¯ß ‰»® ¯õ¸US ¤μÁ\® £õºUP¨£k®? 

 (A) CμzuU öPõv¨¦ ÷|õ´ 

 (B) AvP Áõ¢v Gk¨£ÁºPÒ 

 (C) Põø»°À ©¯[SuÀ 

 (D) AvP©õÚ PõÀÁ¼ 

13. Prolonged labour is defined as combined duration 
of stage more than 

 (a) 06 hours  (b) 08 hours 

 (c) 02 hours  (d) above 12 hours. 

 }sh ¤μ\Á ÷|μ® Gß£x GÆÁÍÄ ÷|μzøu 

SÔUS®? 

 (A) 6 ©o ÷|μ®  

 (B) 8 ©o ÷|μ® 

 (C) 2 ©o ÷|μ®  

 (D) 12 ©o ÷|μzvØS ÷©À. 

14. The drug which is used for suppression of uterine 
contraction is 

 (a) Magnesium sulfate 

 (b) Ether 

 (c) Oxytocin 

 (d) Both (a) and (b). 
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 G¢u ©õzvøμ P¸¨ø£°ß _¸UPzøu SøÓUP 

EuÄQÓx? 

 (A) ö©UÜæ¯® \À÷£m 

 (B) Duº 

 (C) BUê÷hõ]ß 

 (D) £vÀ (A) ©ØÖ® (B). 

15. In breech presentation, the presenting part is 

 (a) Buttocks and feet (b) Head 

 (c) Face and Neck (d) Stomach. 

 P¸¨ø£°À SÇ¢øu uø»RÇõP C¸¢uõÀ 

SÇ¢øu°ß G¢u £Sv P¸¨ø£ •PÁõ°À 

Aø©¢v¸US®? 

 (A) PõÀ £Sv  (B) uø» 

 (C) •P® ©ØÖ® PÊzx (D) Á°Ö. 

16. A condition of pregnancy in which amount of 
amniotic fluid is less than 200 ml at term is  
known as 

 (a) Oligohydramnious  

 (b) Polyhydramnious 

 (c) Multiple pregnancy 

 (d) Ectopic pregnancy. 
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 Pº¨£ Põ»zvß ÷£õx £ÛUSh }º 200 ml US 

SøÓÁõP C¸¢uõÀ GßÚöÁßÖ TÖQ÷Óõ®? 

 (A) £ÛUSh }º SøÓÁõP C¸zuÀ 

 (B) £ÛUSh }º AvP©õP C¸zuÀ 

 (C) AvP•øÓ P¸zuÔzuÀ 

 (D) P¸¨ø£ SÇõ°À P¸zuÔzuÀ 

17. Term ectopic pregnancy’’ refers to 
 (a) a ‘‘false’’ pregnancy 
 (b) an abnormally long pregnancy 
 (c) an embryo growing  outside the uterus 
 (d) none of the above. 

 P¸¨ø£ SÇõ´ P¸zuÔzuÀ Gß£x GßÚ? 

 (A) ö£õ´¯õÚ P¸zu›¨¦ 

 (B) }sh Pº¨£Põ»® 

 (C) C¸ P¸¨ø£ Âmk öÁÎ÷¯ Á¸uÀ 

 (D) CvÀ GxÄ® CÀø». 

18. Umbilical cord usually falls after 
 (a) 5 – 10 days (b) 15 – 20 days 
 (c) 1 – 5 days  (d) none of the above. 

 öuõ¨¦ÒöPõi GzuøÚ |õmPÐUS ¤ÓS ÃÌ¢x 

Âk®? 

 (A) 5 •uÀ 10 |õmPÒ (B) 15 – 20 |õmPÒ 

 (C) 1 – 5 |õmPÒ (D) CvÀ GxÄ® CÀø». 
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19. Cervix is considered fully dilated when 

 (a) It is 10 cm dilated (b) It is 4 cm dilated 

 (c) It is 20 cm dilated (d) It is 14 cm dilated. 

 P¸¨ø£ Áõ´ G¢u ö\.«. AÍÄ Â›Áøh°¸¢uõÀ 

AuøÚ P¸¨ø£ Áõ´ •ÊÁuõP vÓ¢v¸UQÓx 

GßQ÷Óõ®? 

 (A) 10 ö\.«  (B) 4 ö\.« 

 (C) 20 ö\.«  (D) 14 ö\.«. 

20. During pregnancy physiological changes occur in 
which organ 

 (a) Uterus  (b) Vagine 

 (c) Breast  (d) All. 

 Pº¨£ Põ»zvß ÷£õx G¢u EhÀ EÖ¨¦PÎÀ 

C¯ØøP¯õÚ ©õØÓ® {PÊ®? 

 (A) P¸¨ø£  (B) ÷¯õÛ 

 (C) ©õº£P®  (D) CøÁ AøÚzx®. 

SECTION B — (5  5 = 25 marks) 
Answer any FIVE questions. 

Short answer questions. 

21. What are the principles of mechanism of labour? 

 ¤μ\Á® £õºUP¨£k® •øÓPÒ ©ØÖ® Auß 

öPõÒøPPÒ £ØÔ ÂÁ›. 



 

 DIP–358 11

22. Explain the essential new born care. 

 ¤Ó¢u SÇ¢øu°ß CßÔ¯ø©¯õu PÁÛ¨¦ £ØÔ 

GÊxP. 

23. Define abortion and its types. 

 P¸a]øuÄ GßÓõÀ GßÚ? Auß ÁøPPÒ £ØÔ 

ÂÁ›. 

24. Write a short note on post partum hemorrhage. 

 ¤μ\ÁzvØS ¤ÓS HØ£k® AvP Cμzu¨÷£õUS¨ 

£ØÔ ]Ô¯ Pmkøμ GÊxP. 

25. What do you mean by infertility? In how many 
types infertility can be classified? 

 ©»mk ußø© GßÓõÀ GßÚ? Auß ÁøPPÒ £ØÔ 

GÊxP. 

26. Write a note on baby friendly initiatives. 

 SÇ¢øuPÒ ÷uõÇø© ©¸zxÁ C¯UPzvß 

xÁUP[PÒ £ØÔ SÔ¨¦ ÁøμP. 

27. Write the role of a nurse in genetic counselling. 

 ©μ¦ ÁÈ P»¢uõ´ÂÀ ö\Â¼¯›ß £[PÎ¨¦ £ØÔ 

GÊxP. 

28. Describe birth injuries in new born. 

 SÇ¢øu ¤ÓUS® ÷£õx HØ£k® Põ¯[PÒ £ØÔ 

ÂÍUSP. 
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SECTION C — (3  10 = 30 marks) 
Answer any THREE questions. 

Long answer questions. 

29. Describe the physiology of 3rd stage of labour. 

 ¤μ\Ázvß ‰ßÓõ® {ø» £ØÔ Â›ÁõÚ Âøh¯Î. 

30. Describe the physiological changes in the 
puerperium. 

 ¤μ\ÁzvØS ¤ÓS Eh¼À HØ£k® C¯ØøP°ß 

©õØÓ[PÒ £ØÔ ÂÍUSP. 

31. Explain the management of diabetes in pregnancy. 

 Pº¨£ Põ» }›ÈÄ ÷|õ´ £ØÔ²® Auß ]Qaø\ 

•øÓPÒ £ØÔ²® GÊxP. 

32. Explain fetal circulation. 

 uõ°hª¸¢x ]_ÂØS ö\À¾® Cμzu Kmh® £ØÔ 

ÂÍUSP. 

33. Explain the autematal care and supervision at 
home. 

 ÷£ÖPõ» PÁÛ¨¦ £ØÔ²® ©ØÖ® uõ´©õºPøÍ 

ÃmiÀ ÷©Ø£õºøÁ°kuÀ £ØÔ²® ÂÍUSP. 

––––––––––––– 


